# A formula of solutions for non-autonomous linear difference equations with a fractional forward operator 

Ioannis Dassios ${ }^{1 *}$, Georgios Tzounas ${ }^{2}$, Federico Milano ${ }^{1}$<br>${ }^{1}$ FRESLIPS, University College Dublin, Ireland<br>${ }^{2}$ ETH Zürich, Switzerland<br>*Corresponding author


#### Abstract

In this article we define a fractional forward discrete operator. Then, for a family of linear non-autonomous fractional difference equations constructed by using this fractional discrete operator, we provide a practical formula of solutions. This family of problems covers several linear fractional difference equations that appear in the literature. Numerical examples are given to justify our theory.


Keywords : forward operator, discrete fractional, non-autonomous, numerical, delta.

## 1 Introduction

Let $Y_{k}: \mathbb{Z} \rightarrow \mathbb{C}^{m}$ be a vector of sequences. Then the backward difference (or nabla) operator of $\nu$-th order, denoted by $\nabla^{\nu}$, is defined as:

$$
\nabla^{\nu} Y_{k}=\sum_{j=0}^{\nu}(-1)^{j}\binom{\nu}{j} Y_{k-j}, \quad \nu \in \mathbb{N} .
$$

The $\nu$-th order forward difference operator, denoted by $\Delta^{\nu}$ (delta discrete operator), is defined as:

$$
\Delta^{\nu} Y_{k}=\sum_{j=0}^{\nu}(-1)^{\nu-j}\binom{\nu}{j} Y_{k+j}, \quad \nu \in \mathbb{N} .
$$

Both the nabla and the delta operator can then be used to form difference equations that construct models related to macroeconomics, storage, exports and imports, biology, psychology, and time scale analysis, see $[1,2,3,4,5]$.

In recent years, research has been expanded into studying the nabla difference operator of fractional order, see $[6,7,8,9]$, which is a backward operator. This backward operator has helped in constructing fractional
difference equations for the modeling of tumour growth, storage, electricity markets, macroeconomics and logistics, see [10, 11, 12], and mostly aims to extract information from the past.

In this article we will use the fractional forward delta operator as defined when applied to a sequence.

The paper is organized as follows. The main results of the paper are presented in Section 2. Section 3 discusses numerical examples that justify our theory. Finally, conclusions are drawn in Section 4.

## 2 Main Results

In this section we provide our main results. Firstly it is important to understand how the fractional forward delta operator is constructed. We present the following Proposition:

Proposition 2.1. Let $k \in{ }_{b} \mathbb{Z}=\{\ldots, 0,1,2, \ldots, b\}$. If $n$ is a fractional number, then the fractional forward delta operator of $n$-th order is given by:

$$
\begin{equation*}
{ }_{b} \Delta^{-n} Y_{k}=\sum_{j=k}^{b} d_{j-k} Y_{j}, \quad k \in{ }_{b} \mathbb{Z}, \tag{1}
\end{equation*}
$$

where $d_{j-k}=\frac{(j-(k-1))^{\frac{n-1}{n}}}{\Gamma(n)}, j=k, k+1, k+2, \ldots, b$.
Proof. We recall the delta operator of first order $\Delta Y_{k}=Y_{k+1}-Y_{k}$ applied to a vector of sequences $Y_{k}:{ }_{b} \mathbb{Z} \rightarrow \mathbb{C}^{m}$. By using this operator, and by considering a known vector of sequences $f_{k}:{ }_{b} \mathbb{Z} \rightarrow \mathbb{C}^{m}$, we consider the following system of difference equations of first order:

$$
\Delta Y_{k}=f_{k}, \quad Y_{b}=0_{m, 1}, \quad k \in_{b} \mathbb{Z}
$$

Considering a fixed $N \in{ }_{b} \mathbb{Z}$, we have from the last equation:

$$
\begin{gathered}
Y_{b}-Y_{b-1}=f_{b-1} \\
Y_{b-1}-Y_{b-2}=f_{b-2} \\
\vdots \\
Y_{N+1}-Y_{N}=f_{N}
\end{gathered}
$$

By taking the sum of the above equations we get $Y_{b}-Y_{N}=\sum_{j=N}^{b-1} f_{j}$. Hence the solution to the system is $Y_{k}=\sum_{j=k}^{b-1} f_{j}$. Similarly, if we consider the
following system of difference equations of $\nu$-th order:

$$
\Delta^{\nu} Y_{k}=f_{k}, \quad Y_{b}=Y_{b-1}=\ldots=Y_{b-(\nu-1)}=0_{m, 1}, \quad k \in_{b} \mathbb{Z},
$$

we receive the solution:

$$
Y_{k}=\sum_{j=k}^{b-1} \frac{(j-(k-1))^{\overline{\nu-1}}}{\Gamma(\nu)} f_{j} .
$$

Where $\Gamma(\cdot)$ is the Gamma function, and $(j-(k-1))^{\overline{\nu-1}}=\frac{\Gamma(j-(k-1)+(\nu-1))}{\Gamma(j-(k-1))}=$ $\frac{\Gamma(j-k+\nu)}{\Gamma(j-k+1)}$. The solution of the above $\nu$-th order system of difference equations can be also expressed as:

$$
Y_{k}=\Delta^{-\nu} f_{k}
$$

Hence we have that:

$$
\Delta^{-\nu} f_{k}=\sum_{j=k}^{b-1} \frac{(j-(k-1))^{\nu-1}}{\Gamma(\nu)} f_{j} .
$$

Based on this expression, if $n$ is a fractional number, then the fractional forward delta operator of $n$-th order is defined as:

$$
{ }_{b-1} \Delta^{-n} Y_{k}=\sum_{j=k}^{b-1} d_{j-k} Y_{j}, \quad k \in{ }_{b-1} \mathbb{Z},
$$

or, equivalently:

$$
{ }_{b} \Delta^{-n} Y_{k}=\sum_{j=k}^{b} d_{j-k} Y_{j}, \quad k \in{ }_{b} \mathbb{Z},
$$

where $d_{j-k}=\frac{(j-(k-1))^{n-1}}{\Gamma(n)}, j=k, k+1, k+2, \ldots, b$. The proof is completed.
One important difference between the fractional forward delta operator of $n$-th order (n fractional) and the forward delta operator of $\nu$-th order ( $\nu$ natural) is that when $\Delta^{\nu}$ is applied to $Y_{k}$ we receive an expression that includes $Y_{k}, Y_{k+1}, Y_{k+2}, \ldots, Y_{k+\nu}$ whereas when $b^{\Delta^{-n}}$ is applied to $Y_{k}$ we receive an expression that includes $Y_{k}, Y_{k+1}, Y_{k+2}, \ldots, Y_{b}$.

Consider the following linear system of non-autonomous difference equations of fractional order:

$$
\begin{equation*}
E_{k b} \Delta^{-n} Y_{k}=\sum_{j=k}^{b} A_{k}^{(j)} Y_{j}+V_{k}, \quad k \in{ }_{b} \mathbb{Z} . \tag{2}
\end{equation*}
$$

Where $Y_{k}:{ }_{b} \mathbb{Z} \rightarrow \mathbb{C}^{m}$, and $E_{k}, A_{k}^{(j)}:{ }_{b} \mathbb{Z} \rightarrow \mathbb{C}^{r \times m}, V_{k}:{ }_{b} \mathbb{Z} \rightarrow \mathbb{C}^{r}$. The symbol $(j)$ on the matrix $A_{k}^{(j)}$ refers to the fact that this matrix is a coefficient of $Y_{j}$ in (2). For simplicity, in this article we will focus on the case that $r=m=1$, i.e. instead of a system we have a generalized non-autonomous difference equation, and provide a practical formula of its solutions. We prove the following theorem:

Theorem 2.1. Consider (2) for $r=m=1$. Then if $\forall k \in{ }_{b} \mathbb{Z}$ and $E_{k} \neq A_{k}^{(k)}$, there always exists a unique solution for (2) given by:

$$
\begin{equation*}
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\prod_{i=k}^{b-1} D_{i}} C+\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j}, \quad k \in{ }_{b} \mathbb{Z} . \tag{3}
\end{equation*}
$$

Where $\mathcal{D}_{k, k}=1$, and for $j \neq k, \mathcal{D}_{k, j}$ is the determinant of a $(j-k) \times(j-k)$ matrix:

$$
\mathcal{D}_{k, j}=\left|\begin{array}{cccccc}
D_{k, k+1} & D_{k, k+2} & D_{k, k+3} & \cdots & D_{k, j-1} & D_{k, j}  \tag{4}\\
D_{k+1} & D_{k+1, k+2} & D_{k+1, k+3} & \cdots & D_{k+1, j-1} & D_{k+1, j} \\
0 & D_{k+2} & D_{k+2, k+3} & \cdots & D_{k+2, j-1} & D_{k+2, j} \\
0 & 0 & D_{k+3} & \cdots & D_{k+3, j-1} & D_{k+3, j} \\
\vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\
0 & 0 & 0 & \cdots & D_{j-1} & D_{j-1, j}
\end{array}\right| .
$$

In addition $C$ is constant, and:

$$
\begin{equation*}
D_{k, j}=d_{j-k} E_{k}-A_{k}^{(j)}, \quad d_{j-k}=\frac{(j-(k-1))^{\overline{n-1}}}{\Gamma(n)}, \quad D_{j}=D_{j, j} . \tag{5}
\end{equation*}
$$

Proof. By replacing (1), i.e. ${ }_{b} \Delta^{-n} Y_{k}=\sum_{j=k}^{b} d_{j-k} Y_{j}$, into (2) we get:

$$
E_{k} \sum_{j=k}^{b} d_{j-k} Y_{j}=\sum_{j=k}^{b} A_{k}^{(j)} Y_{j}+V_{k}, \quad k \in_{b} \mathbb{Z}
$$

or, equivalently:

$$
\sum_{j=k}^{b}\left(d_{j-k} E_{k}-A_{k}^{(j)}\right) Y_{j}=V_{k}
$$

whereby setting $D_{k, j}=d_{j-k} E_{k}-A_{k}^{(j)}$, and $D_{j}=D_{j, j}$ :

$$
\sum_{j=k}^{b} D_{k, j} Y_{j}=V_{k}
$$

with

$$
\begin{equation*}
Y_{b}=\frac{1}{D_{b}} V_{b} . \tag{6}
\end{equation*}
$$

It is easy to observe that $Y_{b-1}=\frac{1}{D_{b-1}} V_{b-1}-\frac{D_{b-1, b}}{D_{b-1} D_{b}} V_{b}$. We will replace $k$ with $k=b-2, b-3, \ldots, b-m, m \in{ }_{b} \mathbb{Z}$. For $k=b-2$ :

$$
Y_{b-2}=\frac{1}{D_{b-2}} V_{b-2}-\frac{D_{b-2, b-1}}{D_{b-2} D_{b-1}} V_{b-1}+\frac{\left|\begin{array}{cc}
D_{b-2, b-1} & D_{b-2, b} \\
D_{b-1} & D_{b-1, b}
\end{array}\right|}{D_{b-2} D_{b-1} D_{b}} V_{b} .
$$

Whereby using mathematical induction for $k=b-m$ and $m \in_{b} \mathbb{Z}$, we arrive at:
$Y_{b-m}=\frac{1}{D_{b-m}} V_{b-m}-\frac{D_{b-m, b-(m-1)}}{D_{b-m} D_{b-(m-1)}} V_{b-(m-1)}+\ldots(-1)^{m} \frac{\mathcal{D}_{b-m, b}}{D_{b-m} \ldots D_{b-1} D_{b}} V_{b}$.
Where

$$
.
$$

Equivalently:

$$
Y_{b-m}=\sum_{j=b-m}^{b}(-1)^{j-(b-m)} \frac{\mathcal{D}_{b-m, j}}{\Pi_{i=b-m}^{j} D_{i}} V_{j} .
$$

Where $\mathcal{D}_{b-m, b-m}=1$, and for $j \neq b-m$ :

| $\mathcal{D}_{b-m, j}$ |  |  |  |  |  |
| :---: | :---: | :---: | :---: | :---: | :---: |
| $D_{b-m, b-(m-1)}$ | $D_{b-m, b-(m-2)}$ | $D_{b-m, b-(m-3)}$ | $\cdots$ | $D_{b-m, j-1}$ | $D_{b-m, j}$ |
| $D_{b-(m-1)}$ | $D_{b-(m-1), b-(m-2)}$ | $D_{b-(m-1), b-(m-3)}$ | $\cdots$ | $D_{b-(m-1), j-1}$ | $D_{b-(m-1), j}$ |
| 0 | $D_{b-(m-2)}$ | $D_{b-(m-2), b-(m-3)}$ | $\cdots$ | $D_{b-(m-2), j-1}$ | $D_{b-(m-2), j}$ |
| 0 | 0 | $D_{b-(m-3)}$ | $\cdots$ | $D_{b-(m-3), j-1}$ | $D_{b-(m-3), j}$ |
| $\vdots$ | $\vdots$ | $\vdots$ | $\ddots$ | $\vdots$ | $\vdots$ |
| 0 | 0 | 0 | $\cdots$ | $D_{j-1}$ | $D_{j-1, j}$ |$|,$

and hence:

$$
Y_{k}=\sum_{j=k}^{b}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j} .
$$

Where $\mathcal{D}_{k, j}$ is defined by (4). Equivalently:

$$
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\Pi_{i=k}^{b} D_{i}} V_{b}+\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j}
$$

or, equivalently, by using (6):

$$
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\Pi_{i=k}^{b} D_{i}} Y_{b} D_{b}+\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j},
$$

or, equivalently, and by setting $Y_{b}=C, C$ constant:

$$
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\Pi_{i=k}^{b-1} D_{i}} C+\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j} .
$$

The proof is completed.
Remark 2.1. If the condition $Y_{b}$ is known, then the solution is unique and is given by:

$$
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\Pi_{i=k}^{b-1} D_{i}} Y_{b}+\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\Pi_{i=k}^{j} D_{i}} V_{j}
$$

Remark 2.2. We consider (2) for $r=m=1$, and $V_{k}=0$. Then (2) is homogeneous and:

$$
Y_{k}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\prod_{i=k}^{b-1} D_{i}} C, \quad k \in{ }_{b} \mathbb{Z}
$$

Remark 2.3. For (2) and $r=m=1$ the general solution can be written as:

$$
Y_{k}=Y_{k}^{(h)}+Y_{k}^{(p)}, \quad k \in_{b} \mathbb{Z},
$$

with

$$
Y_{k}^{(h)}=(-1)^{b-k} \frac{\mathcal{D}_{k, b}}{\Pi_{i=k}^{b-1} D_{i}} C, \quad Y_{k}^{(p)}=\sum_{j=k}^{b-1}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} V_{j} .
$$

Where $Y_{k}^{(h)}$ is the solution of the homogeneous equation $E_{k b} \Delta^{-n} Y_{k}=$ $\sum_{j=k}^{b} A_{k}^{(j)} Y_{j}$, and $Y_{k}^{(p)}$ a partial solution of (2).

## 3 Numerical Examples

In this section we present illustrative examples that justify our theory.

## Example 3.1.

We consider the following fractional equation:

$$
{ }_{5} \Delta^{-0.5} Y_{k}=A Y_{k}+k^{3}, \quad k \in{ }_{5} \mathbb{Z}
$$

with $Y_{k}:{ }_{5} \mathbb{Z} \rightarrow \mathbb{C}$ and $A \in \mathbb{C}$ with $A \neq 1$. From (3) the solution is given by:

$$
Y_{k}=(-1)^{5-k} \frac{\mathcal{D}_{k, 5}}{\prod_{i=k}^{4} D_{i}} C+\sum_{j=k}^{4}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} j^{3}, \quad k \in_{5} \mathbb{Z} .
$$

This is a practical formula of solutions. For example at $k=3$ we get:

$$
Y_{3}=\frac{\mathcal{D}_{3,5}}{\Pi_{i=3}^{4} D_{i}} C+\sum_{j=3}^{4}(-1)^{j-3} \frac{\mathcal{D}_{3, j}}{\Pi_{i=3}^{j} D_{i}} j^{3} .
$$

Where $D_{3, j}=\frac{(j-2)^{-0.5}}{\Gamma(0.5)}$ for $j \neq 3$, and $D_{j}=\frac{(1)^{-0.5}}{\Gamma(0.5)}-A=1-A$. In addition:

$$
\mathcal{D}_{3,5}=\left|\begin{array}{cc}
D_{3,4} & D_{3,5} \\
D_{4} & D_{4,5}
\end{array}\right|=\left|\begin{array}{cc}
\frac{(2)^{-0.5}}{\Gamma(0.5)} & \frac{(3)^{-0.5}}{\Gamma(0.5)} \\
1-A & \frac{(2)^{-0.5}}{\Gamma(0.5)}
\end{array}\right|=\left|\begin{array}{cc}
0.5 & \frac{3}{8} \\
1-A & 0.5
\end{array}\right|=\frac{3 A-1}{8},
$$

and

$$
\mathcal{D}_{3,4}=D_{3,4}=\frac{(2)^{\overline{-0.5}}}{\Gamma(0.5)}=0.5, \quad \mathcal{D}_{3,3}=1 .
$$

Note that $\frac{(2)^{-0.5}}{\Gamma(0.5)}=\frac{\Gamma(1.5)}{\Gamma(2) \Gamma(0.5)}=\frac{\Gamma(1.5)}{2 \Gamma(1.5)}=\frac{1}{2}, \frac{(3)^{-0.5}}{\Gamma(0.5)}=\frac{\Gamma(2.5)}{\Gamma(3) \Gamma(0.5)}=\frac{\Gamma(2.5)}{2 \frac{4}{3} \Gamma(2.5)}=$ $\frac{3}{8}$.
Thus:

$$
Y_{3}=\frac{3}{8(1-A)^{2}} C+\frac{27}{1-A}-\frac{32}{(1-A)^{2}}
$$

In Figure 1 we see $Y_{3}$ for $C, A \in[-400,400]$. In Figure 2 we set the condition $Y_{5}=C=200$ and see $Y_{3}$ as $A$ changes.


Figure 1: $A$ vs $C$ vs $Y_{3}$, Example 3.1.


Figure 2: $A$ versus $Y_{10}$ for $C=200$, Example 3.1.

## Example 3.2.

We consider the following fractional equation:

$$
k_{10} \Delta^{-0.5} Y_{k}=(k-\underset{8}{2}) Y_{k}+(k-7)^{3} Y_{k+1}
$$

with $Y_{k}:{ }_{10} \mathbb{Z} \rightarrow \mathbb{C}$. Its solution is given by (3):

$$
Y_{k}=(-1)^{10-k} \frac{\mathcal{D}_{k, 10}}{\prod_{i=k}^{9} D_{i}} C, \quad k \in{ }_{10} \mathbb{Z} .
$$

At $k=7$ we get:

$$
Y_{7}=-\frac{\mathcal{D}_{7,10}}{\Pi_{i=7}^{9} D_{i}} C
$$

From (5) we have $d_{0}=1, d_{1}=0.5, d_{2}=\frac{3}{8}, d_{3}=\frac{5}{16}, D_{7}=D_{8}=D_{9}=2$, and:

$$
\begin{gathered}
D_{7,8}=d_{1} E_{7}-A_{7}^{(8)}=\frac{7}{2} \\
D_{7,9}=d_{2} E_{7}-A_{7}^{(9)}=\frac{21}{8} \\
D_{7,10}=d_{3} E_{7}-A_{7}^{(10)}=\frac{35}{16} \\
D_{8,9}=d_{1} E_{8}-A_{8}^{(9)}=3 \\
D_{8,10}=d_{2} E_{8}-A_{8}^{(10)}=3 \\
D_{9,10}=d_{1} E_{9}-A_{9}^{(10)}=-\frac{7}{2}
\end{gathered}
$$

In addition:

$$
\mathcal{D}_{7,10}=\left|\begin{array}{ccc}
D_{7,8} & D_{7,9} & D_{7,10} \\
D_{8} & D_{8,9} & D_{8,10} \\
0 & D_{9} & D_{9,10}
\end{array}\right|=\left|\begin{array}{ccc}
\frac{7}{2} & \frac{21}{8} & \frac{35}{16} \\
2 & 3 & 3 \\
0 & 2 & -\frac{7}{2}
\end{array}\right|=-\frac{245}{8},
$$

Thus

$$
Y_{7}=\frac{245}{64} C .
$$

## Example 3.3.

We consider the following fractional equation:

$$
{ }_{12} \Delta^{-0.5} Y_{k}=A^{k}
$$

with $Y_{k}:{ }_{12} \mathbb{Z} \rightarrow \mathbb{C}$ and $A \in \mathbb{R}$ with $A \neq 1$. From (3) the solution is given by:

$$
Y_{k}=(-1)^{12-k} \frac{\mathcal{D}_{k, 12}}{\prod_{i=k}^{11} D_{i}} C+\sum_{j=k}^{11}(-1)^{j-k} \frac{\mathcal{D}_{k, j}}{\prod_{i=k}^{j} D_{i}} A^{j}, \quad k \in{ }_{12} \mathbb{Z} .
$$

At $k=10$ we get:

$$
Y_{10}=\frac{\mathcal{D}_{10,12}}{\Pi_{i=10}^{11} D_{i}} C+\sum_{j=10}^{11}(-1)^{j-10} \frac{\mathcal{D}_{10, j}}{\Pi_{i=10}^{j} D_{i}} A^{j} .
$$



Figure 3: $A$ vs $C$ vs $Y_{10}$, Example 3.3.


Figure 4: $A$ versus $Y_{10}$ for $C=200$, Example 3.3.

From (5) we have $d_{0}=1, d_{1}=0.5, d_{2}=\frac{3}{8}$, and $D_{10,11}=D_{11,12}=0.5$, $D_{10,12}=\frac{3}{8}, D_{10}=D_{11}=1$. In addition:

$$
\mathcal{D}_{10,12}=\left|\begin{array}{cc}
D_{10,11} & D_{10,12} \\
D_{11} & D_{11,10}
\end{array}\right|=\left|\begin{array}{cc}
0.5 & \frac{3}{8} \\
1 & 0.5
\end{array}\right|=-\frac{1}{8} .
$$

Thus:

$$
Y_{10}=-\frac{1}{8} C+A^{10}-0.5 A^{11}
$$

In Figure 3 we see $Y_{10}$ for $C, A \in[-400,400]$. In Figure 4 we set the condition $Y_{12}=C=200$ and see $Y_{10}$ as $A$ changes.

## 4 Concluding remarks

We studied a class of non-autonomous linear fractional difference equations which are constructed by using a fractional delta-forward discrete operator. We obtained a practical formula of solutions and provided numerical examples to justify our theory.

As a further extension of this article we aim to use this fractional operator to construct a new mathematical model for electricity markets which will provide further insights in decision making. We also aim to extend the results in [13] and construct a fractional forward operator for non-causal systems of differential equations. With this regard, there is already some research in progress.

## Data availability statement

The authors do not have any data related to this article.

## Acknowledgement

This work was supported by Sustainable Energy Authority of Ireland (SEAI), by funding Ioannis Dassios, and Federico Milano under Grant No. RDD/00681; and by the Swiss National Science Foundation, by funding Georgios Tzounas under NCCR Automation (grant no. 51NF40 18054).

## Conflict of interest

This work does not have any conflicts of interest.

## References

[1] I. Dassios, On non-homogeneous generalized linear discrete time systems. Circuits Syst. Signal Process. 31(5), 1699-1712 (2012).
[2] I. Dassios, A. Zimbidis, C. Kontzalis, The delay effect in a stochastic multiplier-accelerator model. J Econ Struct 3(1):7 (2014).
[3] I. Dassios, Optimal solutions for non-consistent singular linear systems of fractional nabla difference equations. Circuits, Systems and Signal Processing. 34(6), 1769-1797 (2015).
[4] M. H. DeGroot, Reaching a Consensus. Journal of the American Statistical Association, 69(345), 118-121 (1974).
[5] K. Ogata, Discrete time control systems. Prentice Hall, New York (1987).
[6] L. Abadias, C. Lizama, P. J. Miana, \& M. P. Velasco, On well-posedness of vector-valued fractional differential-difference equations. Discrete \& Continuous Dynamical Systems, 39, 5, 2679-2708 (2019).
[7] I. Dassios, A practical formula of solutions for a family of linear nonautonomous fractional nabla difference equations. J. Comput. Appl. Math., 339, pp. 317-328 (2018).
[8] J. Klamka, Controllability and minimum energy control problem of fractional discrete-time systems. New Trends in Nanotechnology and Fractional Calculus Applications, pp. 503-509. Springer, Dordrecht (2010).
[9] S. Rezapour, S. Salehi, On the existence of solution for a $k$-dimensional system of three points nabla fractional finite difference equations. Bulletin of the Iranian Mathematical Society, 41(6), pp.1433-1444. (2015).
[10] I. Dassios, T. Kerci, D. Baleanu, F. Milano, Fractional-order dynamical model for electricity markets. Mathematical Methods in the Applied Sciences, Wiley. Accepted (2021).
[11] J. A. Machado, M. E. Mata, and A. M. Lopes, Fractional State Space Analysis of Economic Systems. Entropy 17, Number 8, 5402-5421 (2015).
[12] GC. Wu, D. Baleanu, Discrete fractional logistic map and its chaos. Nonlinear Dyn 75, 283-287 (2014).
[13] I. Dassios, G. Tzounas, F. Milano, Stability Criterion of a Class of Noncausal Systems of Differential Equations. Circuits, Systems and Signal Processing, Springer (2022).

